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19.2.2
1.
19-9 M, M, .
, S M, M, , E S
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M, M, ,
S Ml Mg 51 52 ) ’ Sl SZ

19 -9 19 — 10
2.
. 19 - 10 . M
. S , S 90°
, S
M .
M S S’ , S
S’ ,
b M 2 b
N is
( ), ( )
. s s
. ( )
( ) b ’ b
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19

19.3

19.3.1

n;

n

’

19 -11

€,

a

n

19 —11

aiq s

a

a

L

as

ay s

As s
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ay ’ ’ ’

a, as . B aq ’ D’
BD , ( ) A
BD ,

o =n, (AC+CB)—n,AD

e

AC=CB= ,AD=ABsini = 2etanysini, ,
cosy
8 = Ze (n, —n, sinysini)
COS}/ 2 n; S }/;
n, sini =mn, siny,
o = inz(l —sin’y) = 2n,ecosy (19 -23)
cosy
(1) 7’11<7’12’ A a ) 2%
(2) n >n, C , a,
1) a)
’ . a
as s (19 - 23)
( ) s
5= anecos}/Jr% (19 - 24)
)
5= 2e nf—nlzsinuré (19 - 25)
kA k=1,2,3,
2 2 . . A
0= 27 T NS + = =
Ny mesing 4 5 I(Zk—O—l)i b= 0,1,2,
2
(19 -26)
[} 71*09
kA k=1,2,3,
8:271l;e—|—i:-J A
) 1(2/@—0—1) G k= 0,12,

(19 -27)
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19
as ay s
S = 2e /n,> — n;’sini (19 - 28)
: ©
7 ’
. b
O *
1 . |
_|_ )
) 5 |
|
: 2 &
, s il hW:Q
8 Lk
) ‘ AL
19—-12
19-12 ) s
45° , ,
b b b
’ b b
, (19 - 25) ,
’ 1 ’ 0 ’ (
, k
19 -2 s 0.3 pm, 1. 33,
, ) :2nge+%»
A _
2nze+7fk/\ k=1,2,3,-
ES 47126 e oo
AiZ/e*l k=1,2,3,
n; =1.33,e=0.3 ypm s
k=1 X =4n,e=1596 nm
k=2 /12147;26:332 nm
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k=3 A; 5 =319.2 nm
A; =532 nm ,

S =2n,e=kA k=1,2,3,:
k=1 X1 =2n,e=798 nm
k=2 2X;=n,¢e=399 nm

AZ .
19-3 e
6300 A A2 =5250 A .
n=1.33,
Al b AZ 9
2ne+£:k/\1
2
AI AZ )
a_ by
2ne+ 5 (2k+1) 9
_ Al _ :kkzz R
raa P e, O92LA
19. 3.2
1.
4%,
6 ,12 , 60 %
30~40 70%~80%

dnye

b

b

/\1:
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s ( 1.50)
(MgF, . 1.38) . .
. 19 -13
. 5500 A
\ 1,2

0= 2ne l =50 =10
1,2 . FALEEn, =133
A/2 B, =150

2nze:<2/e+1)% E=0.,1,2,3,

_ (2R+DA_ (2k+1)X5500X 10"
¢ in, 41,38

k=0, e~100 nm.

) ne

A/493A/47"'9 s ’

s A=632.8 nm

, 632.8 nm

2nge+%:kk h=1,2,3,¢"

_ (2kR— D

n,e—
4

, (ZnS,

~(2k+1) X107 m

99 %

2.35)
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13

15

A 4s3A/4.5A/ 4,

A4,

(a)

1,2

2,

1,
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177
A
5:27126—0—?
D nzfla
ze+%=/@1 —1.,2,3, (19 - 29)
A A _
2@+?— (2&“’1)? k—091929"' (19*30)
(19730) k:O 1) (3*07
2 s
(19-29),
A
Ae = Cri1 — €p — ? (19*31)
A/Z’ b
, 19 —14b
l
Ne A _
~ sind 2sind (19 =32
) ,sinf=40,
A
AN 1 —
[ 20 (19 —-33)
Z 6 ’ 6 ’ Z ’ ’
R 1074 ~10"" rad. , n

s (19 -3D (19 -33)
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19.4.2

A B, 19 — 15a

Bs

(a) (b)
19 —15
S
45° .
9] .
19 - 16
’ 19—16
19 — 15b,
r €
1 JkA }{:1,2,3,"’
2e A — (19 - 34)
et 1<2k+1)% B=0,1,2,
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19 - 15b
(R—e)*+r'=FR*
r’ =2Re—¢é*
R>e et
“72R
(19-33),
1 -
(k——=)RA P =1,2,3,
r= Z (19 -35)
1«//&[67/1 b= 0,1,2,
Ar=ri—ro= /T DRA— VAR A= RA
(k+1)RA+ vERA
b 2 k b Ar 2
O ,e=0, SZL, O
2
, 19 - 16 ,
, 19 —15a B s
O .
19 —4 19 — 17 JAB
A/B/ ,C W . AB
Ly Ly A AB,
W . Z‘[\ f ’
lw .
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AI=N - %:‘g’l j j j
A4 B
_ A _ N c
B Lo(t—1t0) 20, (t—1) 774
19 -5 ,
B s .
Al Bl
, 19-18
, . 19 — 17 19 — 4
b, (
, )
. 19 —18 s l l
D , A
C D , . C [ c D 1B
D \ c T
|
’ |
h, A2, < < (
|
a2 |
b a |
~_|
" bl a
2a
—18 19—-5  (
19—-6 s )
3.20 mm, 4. 60 mm, 5893 A,
R
3. 00 mm koo, 19 — 35

,—/:@f%)m rH;Z:(kﬁLS*%)Rl

res” =’ (460X 1077 —(3,20X10*)*
57 5X 5893 X101

=3.71m
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19.5

19 -19 .M, M, s
M, M, . G G,
s M, M, 45°
s Gy , ;G ,
Ll M,
4wy
1

N
AN

N

2!
1!
E
19 —19
L G1
, 1, 2 1 M, ,
, 1 2 M,, M,
, 2. 1 2’ .
E .Gy 2 1 ,
9MZ Gl MZ/’

2/ MZ/ . Ml MZ/



, 1’ 2’
M, M, ’ M, Mz/ s M, Mz/
E
M, M, ’ M, Mz/ » M, M)/
E
M, . M, M, ;
E , M, A/2.
, N, M,
N A
d= N 5
s . 1892
(Cd )
1553163. 5 ,
“19.6
19.6.1
., M, M,
s a b,
N ap sa; 1717[)2. 1,2 ’
ar  a b b, E ,
R 19 — 20b . ar a by b,
[)1 as s 1) ’

A2,
M,
(19 - 35)
M,
G,
19 — 20a ,
L.
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Omax = L »

N

°
N
N
-

E
@
19 —20
19 — 21
, I,/2
s AX s
A—ArA/2), A+ 2ar/2).
107°~10""m,
107 ¥ m.
(x=0 ),

QA—=2ar/2)  Q+2a/2)

Omax L.,
Ts
(19 =37
Ll M,
1

™

NAANS
5 ~°‘%
% a
[\
SR

ATARL2

19 -21

s, 19-22
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k

A+ 2ar1/2)

A

19 =22

k1

AA
QA—2a1/2)

AaA/2  AKAA2

19 —-22

)

AL
2

ar,,“x:m+%>:</e+1>(z—

AXs

AVESOW

(19 =38

(19 =39

A

A

Ay

(19 =37,

1/T~,

Av=

Av=cAA/A?,

y=

(19 —40)
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’

(19 —40) (19 —39) ,
L. O mmax + A/ A

19.6. 2

s 19 -23 s S a .

| L D
19— 23
19-23 S .
. S, . @) . S
0 . M
SU P ’ ) M
S() ) M
S(l . )‘\]
. S, .
OP _a/2
D L
_Da
opr 0 . a9-2h OP=27,
o= 1A (19 —41)
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, , LA/d, (19 — 41)

10" X107

1078 =10"* m,

19 -1 , ,

19-2 , ,

19-3 s .

(@Y

(2)

3

4

(5)

(6)

(7

19 -4 s s ,

19 -5 s

19-6 , ,

19 -7 s n s
19-8

19 -9 s

19 -10 ,

(D G, s

(2) M, M, , s

(3 M, M’ ) .
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19 -11

19-1

2.5 m,

19 -2

(2D

19 -3

19 -4

19-5

19 -6
1. 50,

19 -7
1. 33,

19-8

(2D

’

19
s 0. 60 mm,
. (1) ] 2. 3 mm,
480 nm 600 nm ,
s A=550 nm d=2X10"m
D=2m. (1) 10
e=6.6X10"" m, n= 1.58 ,
s 1.5 1.7
7 . 500 nm,
a=0. 25 mm s 50 cm
. ( 400 nm 760 nm,
” . )
s hv
A. s
)
:::::::::::\\\
19—-5
0. 50 ;;rn ’
(400 nm~760 nm)
380 nm s
’ , 700 nm

600 nm s
1. 33, 1. 5.
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19-9 1. 38 , 550 nm
1.52.
19 -10 s 589. 3 nm s
5.0 mm, 1.52.
19—-11 1. 60 ( 0 ) s
600 nm , 1. 40 s
0.5 mm, 0
19-12 s 1. 50 s
1.33 , 600 nm ~==
s 15 7
(D (2) 1o 12
19 —-13 s 632. 8 nm s
20 , 1. 50,
19 -14 , 10
1.40X107* m 1.27X107* m,
19 - 15 s € s
A ; R,
R
{ |
AT o ¥
[ ! 1’
i |
19—-15 19 —-16
19 - 16
R, , )
A , , (0]
, k Tis R,
19 - 17 s s s 600 nm

(2]

1. 20,
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B Y AR
(3)

19 -18 M, 0. 322 mm 19 —17
1024 s



20

20.1 -

20.1.1

20-1 )

20 — 2a ; ) 20 - 2b
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20 — 2¢

i

_ =
—_—

=

(a) WK RBEN, LI HEER (b) EEEHKESEZR, HBATH
20—1
= P
(a) FEREATH (b) RIRBATH (©) RIBARIATS
20—2
20.1.2 -
P

@V
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(2 , P

P r
ds .
(3) dS P
r n
: 0 N0
b 6 b 02 2073 —
Tl'/2 7][(5):09
, 11 ds P
—pemdS o (LT _
dE—(/j(G)TCOsZW(T A) (20~ 1)
C P I P
(PPN N S ~
E(P)—L[Cf(ﬁ)rcosZn(T Z)ds (20— 2)
- . (20 - 2)
20. 2
20.2.1

20 74: . S IJl ’ I‘l
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b K b
’ L2 s LZ
—
—
—
—
f—
—
e
—
20 —4
s AB )
0
0 > L, P
s . P P
20.2.2
20 - 58. . A AB ]
g , P A
, c .,
BC=asind, ,
0= BC=uasind (20-3)
s BC A/2 , C
AB ,
( ) s

AC A2, AC
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@V
AB
2k

(2
AB

(€Y

4

N \\
B \\\\ A2

A2
(@) ¥ LYt (b) 2P Kt
20—5
P , AB
0. BC 2k+1)
(2k+1) ( ), 20-5b
asin(?:i—(Z/eJrl)% E=1,2,3, (20— 1)
0. BC o,
2/3 ( )’ 20753 .
P
asin@ZiZk% E=1,2,3, (20 - 5)
9=0 o .
: : .0
9, AB R P

(20 —4)
2k+1), ,

b .
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20.2.3
1.
. P
x= ftanf
f 0 , tanf==sinf==0, (20-4)
(20 -5)
_ fA _
I*i(zk_’_l)% k*laZ?ga"' (2076)
e=42k A p=1,2.3,0 (20~ 7)
2a
2.
x=0
(20*7) s k:
Tlf__._ﬁ
a
lozzlf (20 -8)
a
20, =2 (20 - 9)
a
261 901
E+1
k
_ A
l*l"/ﬁ] Xy Zf (20 -10)
3.
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4, a
(20 —4) (20-5), , a ,
’ H a ’
’ Cl>>/\ ’ ’ )
’ CL>>/‘\
, AB
I=Io(ﬂ)“ (20 —11)
u
In ,u:nasinﬁ//l.
(20-11) )
20-6 . (20 —4) (20 -5) s
1N

3470 2461 -1431 1434 2467 3472

314 721‘ -A A 24 34 ‘n:asinel/l

20—6

201 s 600 nm
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2074 ) A1 /\2 )

asin@:i(Z/elﬂLl)/%l asim?:i(ZkgﬁLl)%

ki ks » 2k +DA =2k, + DA 54 =600 nm,ky =2,k, =3,
A, =428.6 nm.
20.3.1
s , 20 —
. b’ a,
atb s d, d=a+tb.

VW W W
!

= <7
a
(@) FHZ e (b) &=
20—17
s 5000
, N,=5000 cm™!
1 1072

= = -‘: —6
d N, 5000 2X107°" m
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20. 3.2

20—-8

20 —4).

N

N

2 a,

20—38

20-28
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P , P
dsind, ; P
,P s ,
dsinf= £k k=0,1,2,--- (20-12)
s Jk
b=0 Jh=1,2,3, e
) ,  sing<1,
d/A .
N s (20-12) N P
.P N ., P
N* . , , .
B ) dsinf,
dsing,
d(sinf+sinB) = kA F=1,2,3," (20 -13)

Py
o\

(@)

20—-9

6,[? : ’ H

g /xlquzvfxa""squy
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b

A A, An

20—10 N
Mg
A=0, P ) )
N )
NAgp=tm2n (m
Ap=2km . m
(20-12)
dsing =+ 2
m
m={1,2,,(N—D},{(N+1),(N+2),
(2N+2), -, (BN—1D)}, -
{}
(N—D

(20 -14)
X
N
)
N N
(20 -15)

AR} (ZNil)}v{(ZN_’_l)y

, 20-10 N

(N—2)



20 201
4.
20-11 N=14, d=4a
20 -11a , 20-11b 4 ,
20 —11c 4 )
7 , 3 2

@ BT Iy,
! ° !
| |

|
l |
| |
| |
I sinf(A/a)
1
-2 -1| 0 ]1 2
(b) EHHTFHHBAT I |

|

(©) SeMATH ARSI
|
|
|
|
|

sind(A/d)

3 -4 0 4 8
20— 11 (N=4,d=4a)
. 20-1lc 4 .

dsind=
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42,

d=4a, asinfd=2A, 1
, 4
dsinf=rFk2
asing=~"x
k k'
_d ;-
k*;k /3 *il,iZ,igs'"
d=4a k=4k =+4,4+8,+12, -, 4
5.
(20*12%

20-2 2=0.5 ym .

4 LD d; (2)
)] dsinf=k2, 0=30°,k=3,1=0.5 pm,
(2 (20 —16), .
d_k_
w rt

(3) k=dsing/A<<d/x, k<6
+4 » 6 90°
0,£1,£2,£3,£5 9
20-3 4000 ,

a; (3)

(20 -16)
30°,

a,d
d=3 pm
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d=10"%/4000=2.5X10 °*m
1) s

dsinf=ka<d
A=7600 A=7.6X10"" m

R<<d/A=2.5X10"°/7.6X10 °=3.3, k=3, 3

(2

kA <<(k+ D2,
A =7600 A2, =4000 A, B/ —2)=1L1, k=1, 1
20.4.1
s 1 mm
s . 20—-12, D
K, L

2013 , , 84 %
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&

VAV

-1.22A/D 0 122A0/D

20—13
1.22. @0
20-14 » 20
. A
<1
20.4.2

, 16 %.
)
Dsing=1. 222 (20 -17)
E
¢ L
’ T R
Q— —— - —_— __HH ___________
L
sing o ¥
I
20 — 14
b 20 2
0
. o fA
r—ftanﬁ%fsm@fl.ZZB (20 -18)
D . H A/ D
. S]ng( 20715>3

’
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20

20 —15

’

20—-15

Se

»Si

Sz/

SI/

Sz/

SI/

g,

@V

20 — 16a

(ORN:-7ig:

(b) BE 3%

(2) RIF 2 %

20—16

S 4

S,/

p>0. B

(2)
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s , 20 —16b
(3)  pg<h. B .S s
, . 20 —16¢
’ B
) ’ ‘9min-
20-17)
fm=1.22 2 (20 -19)
min . D
R( ).
1 0.82D
R=—== 20 - 20
01"[\1[\ A ( )
. H Ds
20— 4 , 3 mm,
lem s
D (20 -18),D=3 mm, , 5500 A ,
_ A 5.5X1077 ,
Ommfl.22 5*122 W*ZZXZ[O ¢ rad
(2) I T, Bsp=1/x,
s Bzemm’
o= L= X107 s

Omin 2.2X10 —4

20.5 X

X 1895 , . 20-17
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X .
s , X

10*~105V

o~ 0

= F

20—17 X
X , 0.01 nm~10 nm
X . , X

A=0.1 nm, d=10""m,

0, =1/d=1.0X10"" rad,

DMAN
e
\/

W RS

/I

DN
g

20—18 X

X ’ 10710 m

1912 . ( . )

20—-18 . X
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s 20-19

20—19 20 =20
X X ,
X b X ’
X
20 - 20 ) ,
b d’ b
X 90 s
X ,
X , X
0=AC+CB=2dsing, X
2dsing= k2 (20 - 20)
X X
’ (9 ’
b b X
’ X s

20—1
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20 -2

20 -3 ,

( 3 mm)

20—4 s s
(D

(2)

(3)

(4)

(5)

(6)

(7)

20—5 s s

20—6 . s

20—7 ,

20-8 , > s

20-9
20 —10

20

20—1 589. 3 nm s 100 c¢m,
1.0 mm.
20—2 632. 8 nm s 0.15 mm,

s 1.7 mm,

20—3 0. 10 mm, 50 cm, 500 nm (D
.(2) s
20 —4 500 nm , 30° s
30°15"24"
20—5 s A Az
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D

‘um

(@Y

nm.

20—6

20—7

20—8

20—9

20 —-10

20—-12

20— 13

20— 14
1.8 A.

20— 15

20—16

20—17

As s (D)
2) s
0. 60 mm , 40,0 cm,
s 1. 40 mm P
(2P .(3) P s
200 i 2X107° em,
1m s 600 nm . (D
(2) s
500 . s
589.6 nm  589.0 nm,
546 nm , 30°
500 . (D (2
500 nm, 200 s
60 cm (D) . (2)
30° ,
600 nm .
(D (2) a
(at0) a , —n/2<p<n/2
300
Ax 0.63~0.68 pm , A 0.43~0.49
, 24. 46° ,
. (2) (3)
4000 , s
, 656 nm s
120 c¢m, 5.0 mm, 500
3.00X10 " rad ,
550 nm. )
X 0.095 nm  0.13 nm , 45°
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0. 275 nm. X
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21.1

’

21-1b

, 21 —1a

21 —1c
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21-1
2.
21-2 , (a) (
) » (b ( )
I I 0o o o oo ,
T T T T
(a) ®
21-2
3.
. 21*3 ] (a)
s (b
(@) ®)

21-3
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21.2
21.2.1
1928 19
21-4 P, P, ,
P, ,
’ Pl ,Pl
) P1 ) Pl
, , P,
ng Pzg Pr_)
Pg ’

P,

P,
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215

P,

21.2.2

IO?

21-5,0P
A()

P,

P,

, P,
fRdRAL 7 &
-
A
I
T 11 U
21 —4
, P,
1
I=1,cosa (21-1)
,OA, .
A, A,
AI ZAO sing
A, =A;cosa
Yy
P Ao
o
A
0 - x
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A,
IiAyzi 2
T A~ 5, COS «a
I, A’
I=1,cos «a
) a:()’ﬂ 9I:I()9 ) H a:n/2,3n/2
91:09 ’ . ’
’
’ ’
21 -1 s s
6
Iy, I.
IU//2+I. ’ I()/2~
L/2H+I_
I,/2
I, : [=2:5
21 -2 21—-6 , P, P
quPz P1 as P17 P:i
P,

21-6,P, P, as P, P /2 a. P,
I,/2, p, s P,
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217

I,
21.2.3
1.

45°

I=1cos* (n/2—a)

I:iIoSiHZZQ

8
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3.
. N s 6300 ,
b
b
21 —-"7a ’ 1 ny M
9 b
b b
ini R
n n
n I n %
v Y
(@ (b)
21-7
[ io ’

, 21 -17b . i
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. on
tani, = — =ny, (21-2)
n;

Ny =ns /1y 2 1 . 1812

n, sini, = n, sinr

n, sini, =n, cosi,

iv ty=m=n/2
9005 ( 2177b).
’ i() 9 ’
(ny,, =1.50) , 56°,
7.4% . 92.6%.
A /")/’/

, , Z N2 // ’/;/]
’ L= z \#2/ /Z# ]

\/
= % \SS:S:

21 -8

21.4
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21.4.1
1.
1669 ) ( )
, , 21-9
. (
) ,

21-9 21-=10 o e
2.
s
’ s o H N
s s
, , e 21-10 ,
X D e
’ 0 ’ e
’ o e ’
’ 0 e ’
s s
3.
o e ’
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21

21-11

78"

102°

BT

]

21—12

21 —11

(]

s O

e

21-12

21.4.2

]
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e
’ e
, , ,
s 21-13
1) D) o e
s 0 e ’ U, Veo
21-12a  ,v,>w,, , ; 21 -12b ., v,
v, » ,
n=c/v, n,=c/vysn,=c/v,, n, n,
W1, <7, , N, >N, 21 -1
K | K |
(a) IEffE ®) Sk
21—13
211 ( 5893 A )
n n, n n,

1.544 1.553 1. 658 1. 486

1. 309 1.313 1. 669 1.638

(TiO,) 2.616 2.903 1. 681 1. 500
.

o) e

“21.5
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21.5.1
21 —14 s d,
e A, 0, o e
A, =Asinf
A, =Acosf
21—-14
0 s 0 e
0= ((ny—n,)d (21 -3)
2%
Ap==—(n,—n)d (21 —4)

A

2
Ang:Tn(n,,*m)d:%

’

6=(7’11,*n()d=%

’

Ap==E (2k+1Dn/2
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A¢=27K(7'1“*n‘,)d=rr

0 e
é‘:(n,,—nl,)d:%
20
21.5.2
21—15
21 —-15
P,.P, s
P, 0, d.
Al ’ C o e ’
A, =A, sinf
A, = A, cosl
21 -4
Ap= ﬁ(7’11, —n,)d
A
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1
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1
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1
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(A=2.25¢eV) s

=31 ¢ - 8
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m-—= (23 -27)
r o Adweor
47(8()h 2 9
n 2 —nn
me
, (23 -28)
v, = L e
" dyneynh
— e’ _ —11
(23-28) ,ri=——5=5.29X10 m ,
Tme
’ ag
. 1 , &
E, =E.+E,=~5muv, Imerr. . Sreir.
& me' 1
=— =— Bl 23 -2
8neor, 327C2€ozhz n* (23 9
(23-29) ,n=1,2,3,--. s E, .E,,
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23-7 0.01 kg, 0.1 cm,
Ax
Ap., =mAv, AxmAv, =h
h  6.63X10°* 29 .

= = _—6. 63X
At = AT 0.01x0.1xX10~% 0-83X10 " mes

23-8 9 kV, 0.1 mm,

Az=0.1 mm=1.0X10"m m=09.11X10""" kg

Ny — P 6.63X107% 7 3me !
ST mAr 9.11X10 U X1.0X10 ' :
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a=n %,n:1,293»"'
, 23-15 RACIIE
E 2|
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, ns Ly mysm, ,
(L n . ( )an 1,2,3,-
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(2) 1 . 5 L 0,1,2,--,(n—1D)
sy ps dy fyeee [=0,1,2,--

(3) m,
’ “ ? n’l[ 09i1’+27 7+Zv 21+1
(4) m,
1
( ) sm, s ‘_"7. n.l,m,
1I/n,l.ml (7"’0950) :Rn,/(r)Y/m’ (6,@) (23 -59)
Y," (0,9 sR,.. ()
23.8.3 —
11/71,/.;71/ (ryﬁssﬁ) :Rn,/(r)Ylm[ (67@)
‘ W!I.]qn[ (”76790) ‘ 2
‘ \I/n,/.ml (r’essﬁ) ‘ Zd‘/
o 6750 dV
23-18 s s roo,
(n=1), r=a,=0.53 A
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w, ()
0.5
0.4
0.3
0.2
0.1
0 1 2 3 r/a,
(@
Wool?) W37
0.5r 0.5
0471 0.4
0.3t 0.3
0.2 0.2
0.1f 0.1r
0 . . 0 . . . .
0 4 8 /a, 0 5 10 15 20 r/a,
(b) (c)
23—18
23.9 -
1921
23.9.1
’ M
n= 1A (23 -60)
I A » ,
e T,



23

273

, dg L dg_ L
g A m (L
s ,L
T
A= j Lgy=ZLr
0o 2m
e
N
r= 2mL

S L=IU+DH#, [

B z , B
23 -19 ,
L.=mh
n = M=
S ) - A
H 2m 2m !
mpp

—Ch_ eh g 5740154110 % ]« T !

ME"0m Anm

=5.078838263X107° eV « T!

23.9.2 -

23-20 s (@)

(23-61)

+ m
(23-62)

L ,
(23-63)
L ,
L., B,Z
24

(23 -64)
0

-k

2k
(23-65) 51 1,

751952
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N S . P
, P
P
Sl Sz
ol N g S S
el
P
_ N
S—
Tohtss A
23 —20 —
., . (2(+D
23.9.3
- ,1925
S S. ,
. _ h
Si—i? (23 -66)
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P.——=°§
m
" P
7)2 ' . ms
P,m:i% 567
B
S
S=VsG+Dh
1
S 2
S.=mh
m :i—% 23 —-21
23.10
’ . ’ 4
@) "
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(2) ,
1 1
2 (17()’0’ ?) (1,0$07?)
3) . 1916
n N
s 1209192939"'9(7/[—1)7 n
n n . 1:07192935“° S,
P, d’ f’...
D 1925 (W. Pauli)
(n, L, my, m,).
[ [ 9m1*71371+1"'°’17
1 1
2(+1 ; n, L, m , M, > T
[ 2021+1) s
n [=0,1,2,,(n—1) =n n
ZYI
n—1
Z,= > 2@+
=0
:2><1+(2n*1)><n
2
= 2n* (23 -68)

n 2n’



23 277
23—-1
! 0 1 3 4 5 6 ‘
s b d £ o h i Zo=on
1. K 2 — — - — — — 2
2, L 2 6 — — — — — 8
3, M 2 6 10 — — — — 18
4, N 2 6 10 14 — — 32
5,0 2 6 10 14 18 — — 50
6, P 2 6 10 14 18 22 — 72
7. Q 2 6 10 14 18 22 26 98
@ ,
) 7,
L,
K.L,M,:-- n=4¢4
n A , n [ .
, 15,25,2p»3s,3p,s[4s,3d].5p,[4s,4f,5d],6p.[7s.5f,6d].
23 -2
K L M N
s s p s p d s p
1 H 1
2 He 2
3 Li 2 1
4 Be 2 2
5 B 2 2 1
6 C 2 2 2
7 N 2 2 3
8 O 2 2 4
9 F 2 2 5
10 Ne 2 2 6 1
11 Na 2 2 6 2
12 Mg 2 2 6 2
13 Al 2 2 6 2 1
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K L M N
s s p s p d s p
14 Si 2 2 6 2 2
15 P 2 2 6 2 3
16 S 2 2 6 2 4
17 Cl 2 2 6 2 5
18 Ar 2 2 6 2 6
19 K 2 2 6 2 6 1
20 Ca 2 2 6 2 6 2
23 -2
’ ’ N
’ . H,He
’ 1591529 HC? . ’
n ’ S
’ p
23—-1 T,=1450 K , A=
2 pm, T2:976 K s /Ig: .
M, : M,=
23 -2 s

(1) (A=5.3eV); (2) (A=4.5eV); (3) (A=4.2¢eV);

4 (A=4.2¢eV); (5 (A=2.5¢eV); (6) (A=2.3eV);

(7 (A=1.9 eV).

23 -3

23 -4 A=300 nm > 5X10°
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23-5

23—6

23-7
23 -8
23-9
23 —-10

]

23-11

s 0.544 eV.

2312
23-13

(1) ¢(x) =sinx;
23— 14
23 —15

2316

m; =

(2) plx)y=e"""1;

A=

(3) plrr=e " ;

eV,

n—

m,

23—1

2,=0.35 pm ,
23-2
0.69 pm
23-3
Wem™’,
23—4

23 -5
: (D)

/‘\,,, =0. 29 pm

0.5 pms,

2.0eV

23

(2)

(x>0)
0, (x<<0)

2
T

) ()=

., m;=

A
A,=0.55 um,

) 2,28 X10°

0-13 9

3600 A
v, (3)
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23— 6
2000 A
237

23-8
X107 A)
23-9

23—-10 X

X

23 —11

23—12

23—13
23—14
23—15
23-16

23— 17

23— 18

6562 A
23-19
23— 20

23-21

2322
23 —23

2620 A, (1) A (2)
V..
107" W« m 2.
5600 A , 10° m’.

(D (A=7%X10"° em) (D)X (A=0.25 A);(3y (A=1.24

b 1%9
90:600 s AL
10 "m 1A X (D
;1 (2)
1025.7 A.
(3800 A~7800 A )
(A ).
(n=2) . s
, 12.2 eV )
3kT/2, D
( ) Ln=1215 A, A=
1, =8203 A;
1A,
15 eV s
200 V , 0. 02

1 keV, 1 MeV, 1 GeV
2.0 A, ;
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23— 24 m . L s
107" m
23 —25 (
2 ’ ):
23 —26 0.8 Whem' s “ ”
23—-27 — a (Dax=a/2;(2)x=3a/4;
(3x=a Ax=0.01la ( Ax s ).
23 —28 (D ,(2) s
23 —29 ny Ly my, m, s ny Ly my s
n, [ , n ,
23 —30 :(D1s  ;(2)2p  ;(33d ;(4af



24

10" "% m,
24.1
24.1.1
(proton) (neutron)
(nucleon). “
, 2C 1/12.1 u=1. 660566 X 10" * kg=931. 5MeV/(*.

m,=1.007276 u,

’ Z ’
Zz N
Z
, X
;He, 12

m,=1. 008665 u.

’

“

(mass number) ,

A A=Z+N.

b
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(isotope) ; (nuclide). A 4
) THAHC iD) {HC T,
v oa s g U, 3 »He
24.1.2
A , R A ,
R=r,A'? (24 -1)
7o ) ro=1.2X10""m,
: o = 2. 29 X 10
kg +m ?, . )
, . 5/4, ,
, , 1O,
24 -1 O

HERTEN
T B i 2U

24-1 %0 #U

241
. m-R  p.-
) —27
o= 4m :4(1.66><10 )/\l —2.3%10" kg * m *
—aR* —x(1.2X10 "A%)?
3 3
24.1.3



284

, 1039
, (nuclear force),
@ .
@ . 107" m
©)
@ b b
1935 , s
] T[" 97'[7 T[o ’
200 1947
T ’ T s
24.1.4
L=VI(I+1D# (24—-2)
1
I ) ?9
“ ” ( ) s
, A
R A

m; s 0,+1,,(I—1),%1.
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_ eh
BN 2m,
24.2.1

(binding energy) ,

My

1)

1
1

b b

flI:gl K/I(I+1)fl'\:

=5.05X10" A+ m’

24. 2

H

Am=Zm,+(A—Z)m,—mx

mx

Ex=Amc* =[Zm,— (A—2Z)m,—mx ¢

Ey

Am=ZM, + (A—2Z)m,— My
Ey=(Am) = ZMy+(A—2Z)m,— My |¢*

My 2X

s 81

IX

b

_Ey (am)f
e=-5=

A
24-1

A

b

(24 —4)

g ,

(24 -5)

(24 -6)
(24-17)

(24 -8)

24 -2
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241
Ex (MeV) e(MeV) Ex (MeV) e(MeV)
iD | 223 1.11 N1 104,63 7,47
i 8.47 2.83 YN | 115,47 7.70
iHe | 7.72 2.57 $O | 127.5 7.97
sHe | 28.3 7.07 WF 147.75 7.78
SLi | 31.98 5.33 ¥ Ne | 160.60 8.03
"L | 39.23 5.60 %Na | 186.49 9.11
IBe | 58.0 6. 45 AMg | 198.21 8. 26
OB | 64.73 6.47 SFe | 492.20 8.79
g | 76.19 6.93 BCu | 552 8.75
e | 92.2 7.68 g, | 1020 8.50
BC 93.09 7.47 88U 1803 7.58
£4(MeV)
7 195pg
6 2y
sk
4l
3
2
1 | | | | | | | | | | |
0 4 8 12 16 20 24 2830 50 100 150 200 240
As
24 —2
24 -2 24 —1 >
@9) 30 , ,
4 s s
2) 30 120 R
(3) 120 )

200 ,
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s : s
24 -2 By

My =1.007825 u,m,=1.008665 u,

MZSEUZZSS. 043915 u,1 u=931. 4943 MeV/(*

Ey =[ZMH+(A*Z)mn*M2§«23U]c2
=(92X1.007825+143X1.008665—235.043915) X 931. 4943
=1783. 886 MeV

_E,_1783.886

€= 235 =7.591 MeV
*24.2.2
(fission)
1936  ~1939 s (O. Hahn) . (L. Meitner) (F. Strassmann)
( leV ) , % s
1 3
U+ n—>"2 Ba+3iKr+2in
s 24— 2 s s 3
1MeV, 1 MeV . ] 200 MeV
, = s 8§X10"] , 2.5
b b ﬁ b
2 2 s s
s . s 24 —3
"24.2.3

(fussion) ,
. . , H s He,
{H+iH—>jHet+in+3.27 MeV
IH+H—>{H+p+4.04 MeV
tH+:H—>iHe+!n+17.58 MeV
$He+i{H—iHe+1{p+18.34 MeV

1 ]
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6! H—23 He+ 2l p+2in+43. 24 MeV

3.60MeV
s 10
R, +R;
E,
D - (
3xX10® o,
24 —4
2 — (
6 X10°

24 -3

.1

107 ,

A Z,

b (ZieZe
7 Ixe(R TR,

10 "'m,
E,~0.157, 7, MeV
Ep?

’

(C. L. Crichfield)

ptHip—~iH+e" 4+
- Ho Hety
$He+3 He—>iHe+21p

(H. A. Bethe) )

Ip+HEC~4N

)
96 % ,

4%,

100

10°K.
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UNTCHe
ot NTy
pHIN=5O+y
FO=3N+e +y
Ip+IN—>C+iHety

24 —4 —
24 -5
@ r
|
N
%Cﬁ@ ()< ©
0= (o), _ "
—
%
b o
24 —5 -
s 26.7 MeV, ’

4ip—~>sHe+2e" +2y,+26.7 MeV
6.7 MeV.
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24. 3
2000 (
1896
24. 3.1
(radioactive decay) a
1. o
a a ( 3He
AX—>2"3Y +a
2X , -
’ a
[} [} a
2. B
B
B e
( )
g
IXom A Y et
B
2X—>, AY+ Jetu
g" ( )
ip—~on+ Jety,

‘8 b

1600 )

(H. Bacguerel)

Y

(24-9)

4 82. a
B B
Ve s

(24 -10)
Ve o

(24 -1D)
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PX+ fe>, AY +w, (24 -12)
B , . ,
3. v
Y Y
OK\B ) )
Y
Y s
. Y ( 2A ) X (107 A~
102A)
’ a ‘B ’7
s 1 cm ; ;
24. 3.2
t~t+dt dN,dN
N , dez ,
—dN=ANdz (24 -13)
_ —dN/dt
9/1 ’ A_ ]\[ 9
NN,
. . A 1.0
A s A 0.5
. t=0 Noa
0.25
(24 -13)
S
N=Nj,e ¥ (24 -14) ¢ -
T 2T 3T AT 5T ¢
s 24 -6

24—-6
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(half-life)
’ T, . t=Ty,

N:%, (24 - 14)
17\270 :l\[o ef,\T1 o
~In2_0.693 -
1. : (24 -15)
(24 - 15) ( \ . ) ’
A 24 -2
24-2
‘H B 12. 4 “'Ra a tozz
e B 5568 " Ce a 5107
2p B 14.3 212 Py a 3><10’7
2K B 12.4 =y a 7.13X10°%
“Co B 5.27 U a | 4.51X10°
’ T ’
dz dN ’ Ly
NU
J 1(—dND
_Jo
r N()
(24 -13) s
JVU/\NZ‘dZ JH/\N()l‘eiM de 1 T
_ Jo __Jo = = = 2z — 1.44°7T, ), 24 -1
. N N . 2 e ( 6)
1. 44 s ’
A . . A
’ , (24 — 14)
*24. 3.3
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), A
— dl — J— A — —A
A=— Q& =AN=ANye *=Aje (24 —-17)
(Bq)7 1 s
1 (B =1 /
(Ci),
1 (Ci)=3.7Xx10" (Bg)
24-3 % Ra) 1622, 5 2
Ti»,=1622 =5.11X10"s
_0.693_ 1
A T., 1. 356 X10
(24 —-14) 2
:i NO:% i: 10—
1= In N 1.356><107“1n 5 6.76X10"s=2143
“24.4
24.4.1
1896 s 400 s 300
@Y . s s
my
(2) . , e
(3 . s h s
4 . N N >
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24.4.2
’ Us /9
s . . 24-3
24-3
(m) oo <107" o 107" ~10"1"°
B
10°% 107" 1/137 1
N seu~Y
() >107" 1072 ~107" <107%
s . 1968
24.4.3
s s \TL'U

, 24 — 4.
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24 —4
MeV (s)
Y 0 1
W W+ 80800 1 >0.95X10"% | W —e .
Z° 7° 92900 1 >0, 77X10°% 7' —>et Fe
g 0 1
Ve 0 1/2
m v, 0 1/2
3 Ve 0 1/2
e 0.5110034| 1/2
" w 105.65932|  1/2 |2.19709X107° | = —¢ 4.+,
T - 1776.9 1/2 3.4X10°7 | o 4y,
7 134. 9630 0 0.83X10 !0 O —=v+y
T
nt 139.5673 0 2.6030X10 " | x'—>u +y,
7 ] 548. 8 0 7.48 X101 7]97‘#7
K’ 0.8923X107"° Kl—=>x' +nx
_ 497. 67 0
K K° 5.183X107% |K{—n +e' +u.
B 493. 667 0 1.2371X107% | K" —p" +y,
DU
B 1864. 7 0 4,4X10° 1 DK~ +x +x
D D’ N
, DT —>K0+zt +n°
D* 1869. 4 0 9.2X10 "
F F* 1971 0 1.9X1071 Ft—qntat
B
5274.2 0 BO—>D+xt +x—
B B 141071 7
Bt >D+x*
B+ 5270. 8 0
938.2796 1/2
n 939.5731 1/2 898 n>pte +u.
A° A° 1115. 60 1/2 2.632X10°"° A —ptn
st 1189. 36 1/2 0.800X 101 ST —>p+n’
b S0 1192. 46 1/2 5.8X10°% S Aty
S 1197. 34 1/2 1.482X1071° ST —>ntn
_ = 1314.9 1/2 2.90X10° 1 2 —>A+=°
- = 1321. 32 1/2 | 1.641X107° | B —>A'+x
Q Q 1672. 45 3/2 0.819X107" | Q —A"+K
A" A" 2282.0 1/2 2.3X10°1 At —>p+K Hxt
(D



296

©) h
(2
) Wz
@ —hs
©)
(3)
@ ’ N \}}.
©) n
® . ; 1000 .
A B Q
24.4. 4
5 s 800
1964 (M. Gell-Mann) (G. Zweig) * 7 (quark)
) B ) 1//29
2¢/3 e/3 6 6 “ 7, 24 —5
6
24 -5
u d s c b t
0.008 0. 004 0.15 1.2 4.7 )
(GeV)
2 1 1 2 _ 1 z,
5 3¢ 3¢ 3¢ 3¢ 3¢
1/2 1/2 1/2 1/2 1/2 1/2
1/3 1/3 1/3 1/3 1/3 1/3
1/2 1/2 0 0 0 0
I 1/2 —1/2 0 0 0 0




24 297
0 0 —1 0 0 0
0 0 0 1 0 0
0 0 0 0 1 0
0 0 0 0 0 1
uud ,p=(uud). udd ,n= (udd). «’
u d L =(ud) .~
u s =(du). . . .
2 2 1 1,1 11 2 1
ERREE R T T2 3¢ 3¢
1 SIS N N U E 1
3¢ 0. 2+2 5 5 i et —e=c¢. 5 5 0.
24 —6
246
xm=(ud) p=(uud)
,_ 1 ,
i :ﬁ(u a—dd) n= (udd)
T (dw s+ =C(uus)
1
K'=(us) Z“:ﬁ(udersdu)
K =@ w 5 =(dds)
K'=(ds) B’ = (uss)
K'=(sd) 2 =(dss)
=L uutdd—2s® A= L Csdu—sud)
'Y) Jg S S ﬁ S S

36
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24 -1
D .(2)

24 -2

24 -3

24 -4 :
sLi+ —iBe+n
"B+ —iLita
HClH+ =S+t

24 -5

24 -6

24 -7 2 Th

24 -8 JdO 0 P0
g

24 -9 Y

1A Y X

24 -10

T, A

24 - 11

24—1 "N,*O "F

24— 2 52 Th
24—-3 *3Pb

D

(2)

(3)

24 —14

A

HOCCIC 0 o
(3D

24

16. 006 099 u,15.994 915 u

232.03821u,
8MeV/

'HA#C>"N+y
PN O+,

16. 011 465u.
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'HARC>"N+y
'HAN—" 0+
PO N+e +,
'H+"N—>"C+"He

(@Y , -
(2)
(3

"H:1.007 825 u N:13.005 738 u

"N:14.003 074 u N:15.000 109 u

C:13.003 355 u 0:15. 003 065 u
24 -5 g 0.72%, WU, WU 4.468

xX10° % 7.038X10° g %
246 WU 4.50X10° .
D
(2 1 Ci . U
(1 =U a
24 -7 00 . L
1.07

24 -8 U 1.8X10°s, 5x10 " kg U

24 -9 . n=(udd),3" = (uus) , A= (uds) , K™ = (us)



25

. 1960

25.1

25.1.1
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1.
@)
Na®™ CI-
Cl”
/‘ Na*
25—1 NaCl
2)
@©

Li,Na,K,Rb,Cs VA

@

256—-1

i
/’/’/[Iﬂ/
1’//’/1’// 7.
/llllm

256—2

F,Cl,Br,1 , NaCl
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Cl,,CO,,CH,, SO, ,HCI
Ne, Ar,Kr, Xe . ,

’ 2573

25.1.2

, . 25—-4
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\0
(a) BAMRT
U
+ + + + + +
— oo o 4 r
Ey
JANEANVAN VAN ANV A Up
F\ 7\ 7 \t/7\ 7\ \~
(© ik ERESE
25 —4
1s,28,2p,3s, " s 1s,
2592[)9357'" . 0 ’
2.
, N
N ,
b A/\’ b
' AE
1072 eV,
’ N ’
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25 -6
E
11
ok A
AEg=s33ev 7 |\ < ’p
—————— 2s
¢ b Tiid ‘% AN Aok
R
1s r
L o 7o n
(a) SNIARIRET
E
Gt 3p
3s
S
2p
-
(&) )
(b) FREmEET
r— o
25—6
N N
, 28 2N . 2p

6N
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,
, ,
) , ,
, , ,
) ,
3.
, N s N
) N.
)
)
, AE,
0.1~1.5 eV, QN )
,
, AE, 3~6 eV, s
, ,
(p~10""~10" Q + m).
NaCl, KCI, - Cl, ,COy , -+ 25 -1
25—-1
AE, (eV) AE, (eV) AE, (eV)
(C) 5.33 (S 1. 14 (CdS)2. 42
(ZnO) 3.2 (Ge) 0. 87 (Cu, 2. 17
(AgCD 3.2 (Te) 0.33 (GaAs)1.43
(PbS)0. 34~0. 37
(InSb)0. 18
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25-7

| 2y |
L33 ATEg

=H

e AEg i
%) %5}
@) F 84k (b) Hiskefh
E = |E‘
v 7 //// Eﬁ
v ) %{{w
© Sk @ Sk °) %

26 =7

Ca Mg,
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, n ) ,
p )
(1) n
s , 25 -8

|
It

T W

- - -0 -5 -9 -0 -0 -0 -

1

S1) {S; i
R Oy
(a ()
25—8 n
AE, AE, ,

10 % eV, ,
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n
(2) p
25-9 . AE, 0.1 eV.
’ P
S
g W
5
S it
g
()
25—9 p
(3) p—n #3777 )
—~—————
-T+
. p—n p @ P : I n
-1+
’ n .
n p ’p n ’
. p s 1
R0 /s
’ p
, 107 "m, 25 -10a 25—10 p—n
pin n p ’ ’
sp—1n ’ UO,

n P ’ p—n ’ 2571013



25 309

U, ) )
—elU, p—n P
, p n , p n
) el s p—n ,
, 25-11
@ ) p -]+t n <
-+ +
-a  x=0 b
U)
® 4 lu .
E
© p L 3
e -
25—11 p—n
p—n ’ s , n
p p n
, p—n ,
, p , n ( ),
s, p—n . n
p ’ s sp—n s
I
p n (
Jeo P
p n
0 U
’ ’
-p—n 25-12 . 25-12 p-n
, p—n
p—n s
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25 311

, 107°V.
25-13
G
B ——
n#
T
T, ) | | A&
(Hhm)
SR P
M
—
2513
25,2
1960
25.2.1
1.
1917

E, E,(E;>E)), )
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E ( ). E,
E1 ’ hV ’ .
E1 9E2 N, ,N,, Ez E1
(d]g’;l) = A, N, (25-1)
Ay ,
hlJ El Ez ) .
El N1
| 2
(d‘dV;-) =W, N, (25 -2)
W12:B1Z{O(V’T) ’ B1z 7{O(V9T)
Eg ’ .
E, ,
E, hy. N,
N.
(dlﬂ) =W, N, (25-3)
W, :Bnp(va) s B, s
(v, D)
£, E, E,
hy hy @&H>
E E, E,
(a) HRESH (b) ZIEH OF2.¢/34
25— 14
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2.
(Ey) (ED),
h=EFE,—FE,
b T b
N — o (E, —ED/ET —
N, 2 (25-4)
E, N, . E, N, ,
N, <Ny, ,
s N;>N,,
0.035% Cr'™  Al,0, )
. Cr** ’
’ E17E2 Ega 25—-15 E1 ’
.E, ( )
E, ( . )
, E, E;. E,
( ) )
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E,. E, ( )
E1 [} ’ EQ El
(N,>Ny). , ,
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256 —17
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R. 1.097373177X10"1/
a 7.297351X107°
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23-20 y=7.0X10° m+s ';1=10.4 A
23-21 m=1.67X10""7 kg
23—22 A,=0.3874 A;1,=1.225X107% A;1,=3.874X10°° A
23— 23 .
23— 24  Epw==0.21 MeV
23-25 r=0.529;E=—13.6 eV
23-26 Au=9.25X10"" eV
23—27 0.02;0.01;0
23—28 a s ;
a ’ H

23—-29 2;2(2(+1) ;24
23—=30 (1) 0;(2) V/6h2h;(3) V6h;(4) 12k

24
24—1 118.0 MeV 127.7 MeV  111.5 MeV
24—2 7.614 MeV
24 =3 (1)1664 MeV

2 1.8
(3)  3.25X10°
24—4 (D

(2)1. 944 MeV  1.198 MeV  7.551 MeV 1.732 MeV  4.966 MeV
(3)24.69 MeV
24 -5 5.94X10°
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24 —6 (1)4.88X10 "™ st
(2)3 g
(3)1.23X10" g = s

24 -7 2.81

24—8 13.6

24 -9

25
256—1 0.124 mm
25—2 1;e
25—3 26
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